
Herramientas sugeridasSuggested tools

Two people are required for assembly.
Save this document for future reference.     

Please check the contents with your packing slip.  
All required hardware is included.

Read instructions carefully.  

Mobile cabinet Cabinet mobile
Assembly GuideL Line Línea L

Cut-resistent gloves
Guantes anticorte

L11-SE19SPage/Página 1/7

7D004011S

rousseaumetal.com
1-800-463-4271

Single mobile cabinet
Gabinete móvil simple

Multiple mobile cabinet
Gabinete móvil múltiple

Mobile cabinet for workstation
Gabinete móvil para estación de trabajo

See page / Ver pág.1 See page / Ver pág.3 See page / Ver pág.7

Phillips #3  Ø 1/4"9/16"
1/2"

9/16"
1/2"  Ø 3/16"

 Ø 9/32"

Single mobile cabinet
Cart LB93 & Casters LB8X

Gabinete móvil simple
Carro LB93  & Ruedas LB8X

3/8-16 nylon locknut
Tuerca de nylon 3/8-16

3S2203Z2

16x

Pernos 3/8-16
3/8-16 bolt

7/8"

3L122222

16x

1

2

Tapping screw
Tornillo autorroscante

 5/8"

3D1618L2

2x

Lea atentamente las instrucciones.

Todos los accesorios necesarios están incluidos.
Verifique el contenido con su nota de entrega.

Se requieren dos personas para el montaje.
Conserve estas instrucciones para consultar en el 
futuro.

Guía de montaje



rousseaumetal.com
1-800-463-4271

Single mobile cabinet
Cart LB93 & Casters LB8X

Gabinete móvil simple
Carro LB93  & Ruedas LB8X 

Continued...
Continuación…

You have to turn your cabinet upside down during the installation, remove 
the dividers from the drawers.
Para voltear el gabinete durante el montaje, retirar los divisores de los 
cajones.

3

Tapping screw
Tornillo autorroscante

 5/8"

3D1618L2

4x

5

Now, you can turn your cabinet again 
and install your dividers.
En esta etapa se puede poner el 
gabinete en posición normal y colocar 
los divisores.

6

4

Spring nuts
Tuerca resorte

3R130001

4x

Page/Página 2/7



rousseaumetal.com
1-800-463-4271

Multiple mobile cabinet
Base for casters LB96 & Casters LB8X

Gabinete móvil múltiple
Bases LB96  & Ruedas LB8X

2

Remove top drawers from the cabinet / Retirar los cajones superiores del 
gabinete.

1

2

Remove top drawers from the cabinet / Retirar los cajones superiores del gabinete.

1

Front handles RB92 Manijas delanteras RB92

1"

 Ø 9/32"

4 5/8" 4 5/8"3 1/2" 3 1/2"

3

Put drawers back in the cabinet / Volver a poner los cajones en el gabinete.

3

5

OR/OUOR/OU

1

Left slide : push up or down.
Right slide : push up or down (opposite of the left slide).
Lado izquierdo: empujar hacia arriba o hacia abajo.
Lado derecho: empujar hacia abajo o hacia arriba (lo opuesto 
de la izquierda)

OR/OUOR/OU

1

Left slide : push up or down.
Right slide : push up or down (opposite of the left slide).
Lado izquierdo: empujar hacia arriba o hacia abajo.
Lado derecho: empujar hacia abajo o hacia arriba (lo opuesto 
de la izquierda)

1/4-20 bolts
Pernos 1/4-20

 3/4"

3A1820L2

1/4-20 nuts
Tuerca 1/4-20

3S1801Z2

4x4x

4

Page/Página 3/7



rousseaumetal.com
1-800-463-4271

Multiple mobile cabinet Gabinete móvil múltipleContinued...
Continuación…

Pernos 5/16-18
5/16-18 bolt

 ¾"

3L120202

5/16-18 nylon locknut
Tuerca de nylon 5/16-18

3S2003Z2

Washer
Arandela
3Z022002

4

4

Base for casters LB96 & Casters LB8X Bases LB96  & Ruedas LB8X

8 x /side
x /lado

4 x /side
x /lado

4 x /side
x /lado

Page/Página 4/7



rousseaumetal.com
1-800-463-4271

Multiple mobile cabinet
Base for casters LB96 & Casters LB8X

Gabinete móvil múltiple
Bases LB96  & Ruedas LB8X

Continued...
Continuación…

LB96LB96 LB96LB96LB96 LB96LB96LB96LB96

IMPORTANT : Lock the cabinet before installing the bases.  

                        Para obtener más información acerca de otras formas y capacidades, ver la ficha técnica  no L52.

                        For more information about configurations and capacities see technical document no. L52.
                        Cerrar  con llave el gabinete antes de instalar las bases.

Pernos 3/8-16
3/8-16 bolt

7/8"

3L122222

3/8'' Lock Washer
Arandela 3/8''

3Z032212

4x per caster
4x /rueda

5

6

7

8

Pernos 3/8-16
3/8-16 bolt

7/8"

3L122222

2x per LB96 bases kit
2x por juego de bases LB96

Arandela de bloqueo 
Tooth lockwasher

3Z052202

Page/Página 5/7



rousseaumetal.com
1-800-463-4271

2x

Washer
Arandela
3Z022002

5/16-18 nylon locknut
Tuerca de nylon 5/16-18

3S2003Z2

2x

Side handles RB90 Manijas laterales RB90

Steel top with rubber mat RC32 Superficie de acero con caucho RC32
12/24-5/8 bolts

Pernos 12/24-5/8

 5/8"

3A1618B2

12/24 nylon locknut
Tuerca de nylon 12/24

3S1603T2

4x

Washer
Arandela
3Z011902

4x4x

Top view / Vista desde arriba

Front of the cabinets / Frente de los gabinetes

2x

1

Worksurface Superficie de trabajoWS08, WS14, WS16, WS17, RC35, RC36, RC37

per cabinet
por gabinete

Top view / Vista desde arriba

Front of the cabinets / Frente de los gabinetes

3D5326T2

 1 1/4''

Tapping screw
Tornillo autorroscante

1

1

Put drawers back in the cabinet.

Last step Última etapa

Volver a colocar los cajones en el gabinete.

4x 

per cabinet
por gabinete4x 

2X
1

2

2

11/4"

All other tops
Todas las otras superficies 

Laminated wood top                 
Superficie de madera laminadaØ 1/4"

Ø 3/16" 

2

Page/Página 6/7



rousseaumetal.com
1-800-463-4271

Mobile cabinet with workstation
Base for casters LB96 & Casters LB8X

Gabinete móvil con estación de trabajo
Bases LB96 & Ruedas LB8X

1
Assemble the workstation and leg extensions WS21 (see guide W10 supplied with legs).
Montar la estación de trabajo y la extensión de patas WS21 (ver Guía W10 que viene con las patas).

Add and assemble the cabinet with the workstation (see guide L10 supplied with cabinet).
Montar y agregar el gabinete a la estación de trabajo (ver Guía L10 que viene con el gabinete).

Make sure that the workstation is turned upside down.

Montar la base para ruedas LB96 bajo el gabinete (como se explica a continuación).

Cerciorase de que la estación de trabajo esté volteada al revés.

Assemble both caster bases LB96 under the cabinet (see bellow).

3

2

4

IMPORTANT : Lock the cabinet before installing the bases.  

                        Para obtener más información acerca de otras formas y capacidades, ver la ficha técnica  no L52.

                        For more information about configurations and capacities see technical document no. L52.
                       Cerrar  con llave el gabinete antes de instalar las bases.

4

5

6

Pernos 3/8-16
3/8-16 bolt

7/8"

3L122222

3/8'' Lock Washer
Arandela de presión 3/8''

3Z032212
4x
/caster
/rueda

4x
/caster
/rueda

Page/Página 7/7


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7

